N3816°6611XZ0

30
29
28
27
26
25
! 2%
E 23 | CZXT739.008 Cover 12
1 /IZ 22 | C2xT739.007 Cover 84
2 21| GBose7 Spring Washer 10 3% | Dzn
] 1 20 GB93-87 Spring Washer 8 5 D.Zn
1 — — 1 19 | GB97.1-85 Washer 10 36 D.zn
2 i I s g P HT 18 | GBY7.1-85 Washer 8 25| S8
;“g‘iti‘ ti*iti i;i iti* ; 17 | GB6170-86 Nut M10 36 D.zn
e anes == 16 | GB5783-86 Nut M8 5 SS
G 15 | GB5783.86 Bolt M10X30 % | oz
:irwii‘ Uim ‘H \Mr 14 | GB5783-86 Bolt M8X25 120 SS
| - e —— 13 |CZXT850.003 Board 8
A Z 12 | CZXT833.011 Support 4Set
/ : 11 | CZXT912.003 Cell Numerals 1Set
; ; 1 10 | CZXT872.014 Outer Shield Plate 2
1 KN 2 9 | C7XT831.002 Inner Shield Plate 2
2 2 8 | CZXT832.116 Surface board 8
2 2 7 | CzxTe51.125 Connector 4
6 | CzXT651.121 Connector 36
5 | CZXT651.128 Connector 1
4 | CzXT651.127 Connector 2
3 | CZXT658.000 insulating Bracket 2
2 | CzXT833.0054 Base 4
NOTES: 1|C2zXT299.218 GTS6-1500L 8
1)Refer to installation and operaring instruction (fig.8) for intermodule Assembly. No.| Code Parts Description Qty. | Remarks
2)Refer to installation and operating instrution(fig.5) CZXT199.518EN
for the Assenbly of the lower module and base. Mark | Qty. |Change |Sgnawe  Date | GTS6-1500L MODEL
Designed b Grode |Mark |Weight Scote
Checked by .
Sheet No:1of 1
Approved by GASTON BATTERY
IN3816'6611LXZ0
30
29
28
21
26
25
24
23 | CZXT739.008 Cover 12
22 | CZXT739.007 Cover 84
11 21| GB93-87 Spring Washer 10 36 D.Zn
1 [ 20 | GB93-87 Spring Washer 8 5 D.Zn
1 19 | GB97.1-85 Washer 10 36 D.zZn
2 . 18 | GBo7.185 Washer 8 125 | 8§
Z1 H 17 | oB6170-86 Nut M10 % | Dzn
= ‘* = ; 16 | GB5783-86 Nut M8 5| SS
— £ 2 15 | 68578386 Bolt M10X30 % | ban
\‘ ‘ : : 14 | GB5783-86 Bolt M8X25 120 | 8§
== i 13 |CZXT850.003 Board 8
I ‘ I I A ] 12 | CZXT833.011 Support 4Set
1 ‘ : : p 11| CZXT912.003 Cell Numerals 1Set
== 2 10 | CZXT872.014 Outer Shield Plate 2
“ L 1 9 | CZXT831.002 Inner Shield Plate 2
;‘ ——— [2_ 8 | CZXT832.117 Surface board 12
— 7 | czxTe51.125 Connector 2
7 7 6 | CzXT651.121 Connector 40
5 | CZXT651.128 Connector 1
4 4 | CZXT651.127 Connector 2
P 3 | CZXT658.000 insulating Bracket 2
o 2| CzXT833.0054 Base 4
NOTES: 1] czxT209.218 GTS4-1500L 1
1)Refer to installation and operaring instruction (fig.8) for intermodule Assembly. No Code Parts Description Qty. | Remarks
2)Refer to installation and operating instrution(fig.5) CZXT199.518EN1
for the Assenbly of the lower module and base. Mark | Qty. |Change |sgnatre  |Date GTS4-1500L MODEL
Designed b Grode |Mark |Weight | Scote
Checked b

Approved by

Sheet No:1of 1
GASTON BATTERY




